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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
-. compulsory. All other questions carry 12 marks each.
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a) Whatare the indications of good Housekeeping?

8 each
b) Whatare the features of bad Housekeeping?
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a)” Which clauses are required to be attached to Industrial All Risk Pohcy" 6 each
b) Discuss applicable deductibles.
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Which types of losses are not covered under consequential ldss Insurance? 12
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Write short notes on following;:-

a) Dual basis of Insurance for wages
b) Alternative Basis clause
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. How do you arrive at the sum insured under (Gross Proﬁt) Difference

Basis specification?
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. Describe the scope of the cover urider an Industrial All Risks Policy.
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- Outline the Indian Fire Reinsurance Programme.
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- Write short notes on the followings:-

a) Impact Damage due to Insured’s own vehicles.
b) Debris removal in'excess of 1%
¢) Designation of Property clause
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7) TdHafgam . 7,00,000
V) Rl ol & v am - 30,00,000
W) [ el S dmadim | 1,20,00,000
q) @t el - 1,60,00,000
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-9, Work out the claim amount in the following case: ' 12
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a) Suminsured : 30,00,000
b) Indemnity Period 12 months
Tumover (Standard) S 1,00,00,000
Turnover during the intemlptiofi period 40,00,000
Increased cost of working 7,00,000
Gross Profit dusing previous Financial year 30,00,000
Turnover during the previous financial year 1,20,00,000
Annual Turnover ' 1,60,00,000
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Discuss the provisions for issuance of Floater-cum-Declaration Policy. 12
State the contract price insurance clause. o




